=
O
_I
20
=5
Z v
B_IG
® >0 >
T n=L5
< =
W S5zo
T O 3
N oCE=
N £ <<
P U_m_R._H__AUm
P WTAB
L Z =
AMSOSU
] <SS £ <
O
¥
L.

NOTICE D’INSTALLATION

DATE: 30.7.2021

175524

py7] dnous 3jesddpT jybrhdon



s LAPPSET. 95 1(4)
FLORA
DATE: 30.7.2021
700400 |pcs 702286  |pcs 702339 |pcs 702646 |pcs 705197  |pcs 705207 |pcs
8| 5 1 44 1 6
. | LAPP%;;:::&LH / —  —
65x65 118x78 32x45x502 L=724 |=2146
705211 PCS 705212  |pcs 705214  |pcs 705219 |pcs 705221 PCS 705230 |pcs
143 1 27 i 4 2 8
45x145x704 45x158x771 45x145x724 L=2246 93x93x2446 =
705237 |pcs 705258 |pcs 705270 PCS 705310 |pcs 705375
10 26 P 3 ‘
93x93x3138 = =
705379 |pcs 705395  |pcs 705506 |pcs 705507 |pcs PCS 705789 |pcs
8 3 15 6 66 5
1=2594 I=1800 = = =333
705796  |pcs 705811 PCS 705819 |pcs 706234 |pcs| 706439—614|pcs 706443 |pcs
1 2 1 ﬁ 1 42 8
a | L a a a
|=2900 |=2094 = = L 704 32x45x702
706531 PCS 706778 |pcs| 707294—614|pcs| 707390—303|pcs| 707518—614|pcs| 707519—614|pcs
61 1 2 2 1 1
= N
- ] ] ] ] ] -
- &= 70x120x2304
3| 707520—614|pcs| 707521—614|pcs| 707522—704(pcs| 707525—303pcs| 707528—303pcs| 707546 |pcs
° 1 1 12 9 & 2
% I I I I
Ql
Q.
5
5 I I I ]
8
(@]




175524

s LAPPSET. 2(4)
FLORA 3
DATE: 30.7.2021 a
707588 |pcs| 707590—303|pcs 707644  |pcs 708370 |pcs 708374 |pcs 708407 |pcs
3 3 1 21 2 4
=59l
755x755 28x200x1100 690x704
708457 |pcs 708469 |pcs 708473 |pcs 708498 |pcs 708576  |pcs 708577 |pcs
1 1 — 3 2
e 3h
= 93x93x200 = 140x140x800 L=2260
708595 |pcs 708661 PCS 708663 |pcs 708681 PCS 708691 PCS 708696 |pcs
@] 5 1 1 3 mﬂ 1 3
28x700x1100 68x385x725 28x700x1100 68x385x725
708700 |pcs 708752 |pcs 708761 PCS 708767 |pcS 708905 |pcs
1 4 1 1 i 4
Q—‘
700x1400 45x145x500 = 45x145x1505 705x940 93x93x1846
708917  |pcs 708945 |pcs 709037 |pcs 709062 |pcs 709119 PCS
g 23 3 m 3 4 2
28x700x740 = 28x350x850 68x120x704
709120 |pcs 709183 |pcs| 709273—614|pcs| 709350—708|pcs| 709372—705|pcs 709374  |pcs
f 94 P 1 1
s — — — — —
j 93x93x704 45x120x324 20x154x200 423x351 45x224x702
5| 709400—705lpcs| 709402  |pcs| 709403—705pcs| 709475—303pcs| 709476  |pcs| 709858  |pcs
f 1 1 - 1 Ay 92
% I I I I
‘§ Q-’/
.
5
5 - - - - - ||
S| 20x154x200 = 132x640x702 = 32x45x290




& LAPPSET. 175524 3(
FLORA 3

DATE: 30.7.2021

2

709859 |pcs 709861 PCS 709862 |pcs 709867 |pcs 709868 |pcs 709869 |pcs
12 2 46 22 10 1
WM '
32x350x748 350x748 = 32x350x748 350x748 =

709889 |pcs 709890 |pcs 709896 |pcs 709897 |pcs 709902 |pcs 709903 |pcs

AR

L=3750 28x700x1100 28x300x1200 28x300x885 L=2570 L=1390
709904 |pcs 709909 |pcs 709911 PCS 709978 |pcs 710014 710072  |pcs
1

TR

45x324x450 28x700x1100 15x300x890 820x2920 = 68x324x400

o)
(@]
2]

| |

710073  |pcs 710112 PCS 710121 PCS
2 i 2
68x324x400 10x581x704 10x405x558 15x597x703 15x400x880
710122  |pcs 710124  |pcs 710156 710302—-303 710314  |pcs
1 (e ’ % J& 1
il
.
 I— \  —
15x123x703 10x260x310 10x150%x200 45x120x564 1510x1800 =
710316 PCS 710318  |pcs 900240 |pcs 901899 |pcs 902270 |pcs 903093 |pcs
2 340 4 16 597
93x93x3440 = @8x70 M8x45 @5x50 @8x90

Copyright Lappset Group Ltd

903112 PCS 905051 PCS PCS 905083 |pcs 905104 |pcs 905112 PCS
17 20

r & )

=750 024/8.4 S30H @32 M10 @22

B
=]
~
E
(03]
=]




& LAPPSET.

175524

4(4)

FLORA 3
DATE: 30.7.2021 c
906503 |pcs| 907694—216|pcs 909231 PCS 909232 |pcs 909233 |pcs 909511 PCS
4 7 2 16 60
M8x120 L 704 8x130 8x120 8x100
909519 |pcs 909521 PCS 909561 PCS 909633 PCS 910186 PCS
65 8 1 4
= 705x612 100x119
PCS 910682 |pcs 911403 PCS 911404 PCS 911406 PCS 911407 PCS
6 1 1 3 @ 1 1
8x90x1690 12x580x733 12x405x558 12x521x746 12x573x629
911408 |pcs 980100 |pcs 980101 PCS 980106  |pcs 980110 |pcs 980114 |pcs
51 12
()
12x287x318 @5x60 24.5x70 @5x40 @4x35 @4x20
980123 |pcs 980128 |pcs 980129 |pcs 980151 PCS A10520 |pcs
380 30 32 20 1
7x60 @7x40 @5x35 M8 ?16/8.4 =
P07524 |pcs PO7526 |pcs P10068 |pcs P10089 |pcs| P11824—614|pcs P13450 |pcs
2 if 2 8 16 20 8
s — — — — —
j L=1546 45x120x970 32x45x750 45x120x742 28x200x1100
5| P13453 |ecs| P13454 |pcs| P14092 |pcs| POO110  |pcs PCS PCS
f 1 1 { 2 2
% I I I I I I
Ql
Q.
5
i - - - - - -
3| 28x200x1100 28x200x1100 20x225x450




= LAPPSET. 175524

FLORA

Copyright Lappset Group Ltd

DATE: 30.7.2021
E— EN/AS Impact Area 252.4 m2 1:150
. I N e
- Falling Space 265.1 m2 0
<&
&
o
¥
o o
o)
©
S D—4
"
(o)
330 ® SR 2740 o By 2
ot o 90
1 *
O e
226 2780
— [ o =
o e S o
<] 9 5 @
® T~ 2670 _ & . 890
; 5 &N o
[ " U
3 o X e ©
g % | K4 NN 2590 H
~ O ! ral v ‘
8 ‘ @O
o\ R




175524

DATE

& LAPPSET.

4A

30.7.2021

.
.

FLORA

Q09

we4/13

009 W 0%9
o .
S 5% 8¢ S
| A T o
000 | [ 755l . < on = i e
ORI (SN g 0 s c %
= S— = EE g o
NS & 3& |
P P o
: X . o
N M
o0&
©3
o X
O ul
oun
< o
. 4 o 3| o
2 = S| b o
s 5 { = 5 o
(@] A (o)} o
(0)]
1
& ]
— {
O \
@ DQ

p1}7 dnoug 3jesddoT yybrhdon



& LAPPSET. 173524

FLORA DATE:  30.7.2021

Copyright Lappset Group Ltd

E— EN/AS Impact Area 252.4 m2

- Falling Space 265.1 m2
Max Falling Height 2670 mm

1:150

14290
v’)
KX 5
X
<)
/ >
0
Q- 2250
2
1500 | fii
(1500 2
|
;\5\‘: 8
L= D0
4111} S
‘ ©
_ 2260
1500 \
i || Nl
o :’@ T o
T )
N ' S N
\ o
1500 2010
7. i
%
&
q§§> S
[Te]
2250 _, Tl 1500
o
T 3
o D
QI
égs -
@
%,
16840




= LAPPSET.

FLORA

175524

DATE:

30.7.2021

SA

Copyright Lappset Group Ltd

3850

2670

1470

I




w1 v
’—/—_.E/—V//\ ] ,.// _/’ B\ e——

,..“\/,/_\/; \\i

'\
_—1

.\\.M\' ) \\'/‘\.

A\ -
V\\\\\\ \\\ \\\\\\\s/
NVA é& S

/‘\\//
\\\ \\\\\.\\\\// N\
¢ 4&7&,\

ST R\
.////mm\\\ HI\Z\\ Sy,
ﬂu/;/ S\ //\\\\m\\,,,\hf
NN S S N AN
/;'V\\.%//\\/\\,.\\//:\V//
m%%# ,/,§VQV\N\\

30.7.2021

175524
DATE

== LAPPSET.

FLORA

p}7 dnou9 yesddo yybruiAdo)d



& LAPPSET. 173524

FLORA DATE:  30.7.2021 6A

DET 1

DET 3

M10

o)——

905104

}éﬂ ] [c] [c] H%“
\| = ]
i P10089/ / =
> P1006

DET 6 DET 7 DET 8

P10068
NoTE: @8x70
alls contain
floor boom 705211, 900240 o/,
HUOM: ©°
Seindt sisdltdvdt °
lattia puomin 705211.
o

ATT! Pre dril

DET 9

28x90
(903093)

980151

DET 13 DET 14 DET 15 DET 16

PRE—-DRILL HOLE.
28x90 253 40
(903093) |
Q >~
907694
8% /0 I

(900240)

Copyright Lappset Group Ltd

DET 17/ DET 18 DET 19 DET 20

310 (707294) /280,280
250 (706513) 8
1

707294,/706513

\ x40 ?5x40

\\\fof4°> 907694
\\\\\\ ~




Copyright Lappset Group Ltd

& LAPPSET. 175524
FLORA DATE: 30.7.2021
DET 21 DET 22 DET 23
D/ x60 D/ x40 .
DET 25 DET 26 DET 27 DET 28
Line up edges
'; 3 09x60 04x35
T@@ ~100 :
DET 29 DET 30
216 /8.4

DET 35

08x70

g

|

DET 37

@7x40

(980128) M\
A D
\ 220
\= e

@7x60
(980123)




TOWER A

175524

DATE:

& LAPPSET.

FLORA

7

30.7.2021

OROANW)
ETORORN,
DT I R
g’ g 2> \\ /D
O
»
: (B
()]
-
—— \ a
A
FEI NN L~ D)
= [ </ I,..c

A — N\
(1 I A

e

N\ g\

,.""ﬂutlll/l\m,«\‘\|ml

) )
T

2 V=" /[
T NN 4
N e .}
e

<)

B

)\
,..vﬂé

=)) ) '

5.0

, . .
A 2
— — -
Lol Ll
) () M~ U
/ U [
N\ o
F-= ey sy |
-ﬁ ST 7\ P
L Ss— N\ 1\ | ,.3
G — S————— -lluv%
NV}

== ‘< i \
=) [/
N — e vy A/ A A

\\0 711

=y

dua.lnq.,,.,..H\ N = 1
T\ 04 A p

DET 14

p3y7] dnoug 3jasddpT jybrhdon



TOWER A
7a

30.7.2021

175524

DATE:

FLORA

& LAPPSET.

708917

708595

710115

°48
Dz

DET 23

1:50

+3760

+2570

+1970

+1370

+0

709273

+2280

708945

+0

p3y7 dnoug 3jasddpT jybrhdo)



TOWER B

175524

DATE:

& LAPPSET.

7b

30.7.2021

FLORA

“Iw

\

@ 709902| (708746

/X

(0
(5@

) )
N/

/)N 3V

9
,‘.%

SWN\\\

E I\

AN

/:

'l'cu

B —
é"
ﬂv 2
A =4 p
AU pa—d
— \\W — LOY A\ - %@

Qe

RV
(% (,F'wf \\“&M’/VX%\M’I//
TR / i

= 7
: 4&@

\

p3y7] dnoug 3jasddpT jybrhdon



TOWER B
7h2

175524

DATE:

% LAPPSET.

FLORA

30.7.2021

—

VL NS

'w L\

()
(0)]
00
[©)]
o
~

AN [T

L D

N\
AN MM.II»

= [
R |

~
O
e 0]
N
o
~

—

)
0
%

)

p3y7] dnoug 3jasddpT yybruihAdo)



& LAPPSET.

FLORA

175524

DATE:

30.7.2021

TOWER B

7c

1:50

+3760

+3760

+3480

+3070

+2610

709904

709896

Copyright Lappset Group Ltd




8 LAPPSET, 175524 TOWER B
FLORA DATE:  30.7.2021 762
@ 1: 50

DET 16-18




TOWER C
7d

30.7.2021

175524

DATE:

& LAPPSET.

FLORA

4V/ //<

708681

708473

DET 10

DET 24—-25-26 (708595

‘I'/

/
x

@l/@

\m
(]
{/
N \9

‘IIV

=Y
= 2

p3y7] dnoug 3jasddpT jybrhdon




& LAPPSET.

FLORA

175524

DATE: 30.7.2021

TOWERC

Te

A

100

+3020

+2120
+1970

+1520

+770

340

+0

1:50

650

©

708917

DET 19

DET 27

42730

+2120

+0

+2100

Copyright Lappset Group Ltd




TOWER D
Tf

30.7.2021

175524

DATE:

& LAPPSET.

FLORA

710156

700400

x8

705270

p3y7] dnoug jesddpT jybrAdo




[£:]

TOWER D

30.7.2021

175524

DATE:

& LAPPSET.

FLORA

1:50

+2900

"I" oco

p3y7 dnoug 3jasddpT jybrhdo)



S A
A
W \ _ _
joelceepilceoeees
O AN AN \\ /D = NENEINENEINR I8
O S =
= ] 8 5
(= ——— _AN > W U ™
A\
i A N W :
X =V N\ ERVeEr
M S |'\\4\\b</\\\|7/|/|\'/ )|\/.||||||\.|? — .VAA mm
5 ANINZ AT/ NN -
-ll wm — /‘%~WWMMWMMMMMMMMMMMMMMMMMMMWMMWMMMMMMHHHHl
- ST .I& £
...... N N =3 L R
NraWaviis
@ M
= g 2
Ll 3=
4
W |
© = o)
<. OOE®@®IOP®® § (3
o 00 X hed (@] o
-t e NENTNE
. |
L

p3y7] dnoug 3jasddpT jybrhdon



2 LAPPSET, 175524 TOWER E
FLORA DATE:  30.7.2021 7h2

o
709867




TOWERE

175524

DATE:

& LAPPSET.

FLORA

30.7.2021

+3760

1:50

+3760

009

p3y7 dnoug 3jasddpT jybrhdo)



TOWER F
7j

30.7.2021

175524

DATE:

& LAPPSET.

FLORA

709903
x5
706439

CElCICIONS

=TNEN\ o)

—_— — A
e ——————————————————— —_— Y  —— )

E———wm— W N f‘"
el TR\ L\ N\ ™ =
T TTINVAN AN TN\ SAN T

Q o

TN /,@\//// Vo

.
AN\
—\
———

N/
= : S
e e\ 2 LHNW/'” ”UIQ = Vi J 2>
;d,‘ = 4@ N /404‘/ / 5.% = == x».ll\h/% =\ @
A . N ) 5
S 7@‘ Sl =\ g
X

== ————————/~\ .ﬂhMiilllll@Ag

AN

?%ﬂvﬂ!mmwwnﬂ ST A

VAN

© 3 O

X <

w0 M >

o X 3

o o

7 O 7
o]

p3}] dnoug jesddpT jybrhAdo)




2

TOWER F
7j

30.7.2021

175524

DATE:

s LAPPSET.

FLORA

Wﬂﬂ% S

< =L )
e b
. ==

X \./\|ﬁ//m ) %@ N

|W

&

A

|M\

% /. 40.//\
S

\
@ 6\

708945
709868

p17 dnous 3jesddp yybrhdon



% LAPPSET.

FLORA

175524

DATE:

30.7.2021

TOWER F

7k

850

+2570

1: 50

100

1+0 L——

708595

709062
AN

SCREW 902270 x2

+2950

DET 28

708473
+

600

+3580

 +3420

+2570

710116

+2090

DET 22 ¢

+0

Copyright Lappset Group Ltd




TOWER G

175524

DATE:

& LAPPSET.

FLORA

71

30.7.2021

M §
M ¢
[
N g S
A /S
W\ «
7\ LS

708767

,WX“J, N
,W‘C?,/ \ o’ \
AN N
/.»,.. \ .\,,. P\ / '/
D NS gh—
R M/ \ ¢\

P~z

[
N

N\

[ INE
Q/w\%w
e

p17 dnoug 3jesddo yybrhdon



Copyright Lappset Group Ltd

& LAPPSET.

FLORA

175524

DATE:

30.7.2021

TOWER G
m

A

1:50

o
(e}
N
+0

= o
o
©

&=
@24 /8.4




L= & <C
& _ m _
I~
M N N ) 3I¥ D o
0 X 0 o0 © X 00 x
o o o o (@]
O ~ ™~ ~ ™ n N
- - 3
O R
Ll
(6] (0]
o =) S
2 = 2
No
o x
R .ﬂ\
-
N
o
N
< g
o
()
N
Tp]
- 2
~ L //
- p- / IIHQ/HL\H' f/l- ~ .WSQ
— D
q
u«\.,\ / \,l TR
— A
= SN\ T\ LD
llzu'
© >
® ~
T
T L
=)
E > ¥ = 2
N 0
0 % 0 ©
o o o NG o
~ ~ ™~ N
0
P o
o. 3 3 "
M < [e)] L
g ) 8%)( g%)( 3 S 503 S S
Q S S 3 0 5 S) % % o
- & NSNS NS \E S )
o
. L
L

p3y7] dnoug 3jasddpT jybrhdon



TOWER H
n2

30.7.2021

175524

DATE:

FLORA

& LAPPSET.

709867

Ny
‘ 709867
;

708374

B
)

AN '
D\

M
N
[0}
00
o
I~

yyyyyyyyyyyyyyyyyy 14Ado)



8 LAPPSET, 175524 TOWER H
FLORA DATE:  30.7.2021 70
1:50

A

+3140

13

42450

+2090

+1370

710113
750

+200
+0

709896

709896

708917

709904

Copyright Lappset Group Ltd




p
A

TOWER |
B

~

AN

30.7.2021

()

)

T | ===

27 D
5

175524

DATE:

BRIDGE 708457

& LAPPSET.

FLORA

p3y7] dnoug 3jasddpT jybrhdon



s LAPPSET. 175524 TOWER |

FLORA DATE:  30.7.2021 7q

@ 1:50

130




TOWER J
ir

30.7.2021

175524

DATE:

& LAPPSET.

FLORA

BRIDGE 707644

[
@)
TR Tk NI e N e V= e 7
e 42 o7 N \I\\\ss//M\\ O

N TN N N =\ LUINT L [

NS ===
#.|._..///ﬂ4 Mmi W\ _ >
“\ 5.0 “H

p3y7] dnoug 3jasddpT jybrhdon



s LAPPSET. 175524 TOWER J

FLORA DATE: 30.7.2021 7 rz

I pN
L ﬁ
)

|
709867
\/

pRA
=

s
&
W
AN




TOWER J
7s

30.7.2021

175524

DATE:

& LAPPSET.

FLORA

+3700
+3550
+0

1:50

p3y7 dnoug 3jasddpT jybrhdo)



TOWER K

175524

DATE:

& LAPPSET.

FLORA

Tt

30.7.2021

709903
709273
709889

—— —

|\

x X X x

——— N\ s e e e s — ——
7

e e e, — ,————

o
I\

706439

7)
b

Y/

wJ%“Wﬂrﬁﬁﬂvﬁ. T TR A1—)
\HM%MMMWAﬁ‘&&N;llth;Qljv
,MﬁJmﬂM%M%ﬁ%Wth-MWWAN“N< %.

DET 21

AT X G
_w

A

fm./ o“m.w .. ‘Ijﬂ%.|“
G oty g .‘\Q
77N 7/ —\ \NWI.QIMW

\ \74
A

D

Q
x

708917

p3y7] dnoug 3jasddpT jybrhdon



TOWER K
7t2

30.7.2021

175524

DATE:

= LAPPSET.

FLORA

:




82 LAPPSET. 175524 TOWER K
FLORA DATE:  30.7.2021 7u
1:50

+2570

100

130

911404

DET 20

911406

DET 20

gt

600

Copyright Lappset Group Ltd




v

TOWER L
709889
x3
708681
P11824
708370
X9
708917

BOPRPR L | 0e0O® @

DET 20

DET 37
DET 36

., A

N N/ S\ N A N e 1% \ N7 =-WB— 2 — = — N
N SN N N .\ — N = N[ A’JH%@EM%&M%Q \ é’
~ AJﬂ, TN K ) AJI _Ar \ »WMWWMMQQV(mMW Al-«lli&?“%””Vr N
<+ S /\/7/«\ Y // . {1/ J<=2NN AN
m ‘s l.’§?P”WW‘\\ M&&‘\\W’M/Nﬂ‘hﬁ. - .\ / \ \ -g\\‘\\wﬂm%\\\w\\%

NET 709978

709903
708696
709904

706439

O®E

T
(@)]
[Ce]
> o2 5
> Q™M <
o X 00
M o o >
x ~ = Q

& LAPPSET.

FLORA

p3y7] dnoug 3jasddpT jybrhdon



TOWER L
v2

30.7.2021

<
N = P/ A »”y W

bod

709867

% LAPPSET.

FLORA

p17 dnous 3jesddp yybrihdon



TOWERL

175524

DATE:

& LAPPSET.

FLORA

W

30.7.2021

911404

|
o¢lL

DET 20 |

111

1: 50

+3760

W lmﬁw.l
kW@ll!!Mﬁi.

- Y
708407
708595

p17 dnous 3jesddo jybrhdon



% LAPPSET, 175524 TOWER M

FLORA DATE: 30.7.2021 7x

705819

705789
x5

Copyright Lappset Group Ltd

708663

709183

705819
709183




& LAPPSET.

FLORA

175524

TOWER M

: 30.7.2021
1:50




Copyright Lappset Group Ltd

s LAPPSET. 175524 TOWER M

FLORA DATE:  30.7.2021 7y2
©

709183 708661
709978
708663

709183

.

\\ _
\
\\ \
v
+200
+0

: =<y

100

zz:iji$
[
650




Copyright Lappset Group Ltd

vio1d

‘13SddV1 &

3Lva

705308

1441 TA .

YATAVA VN

d 705308

705308




Copyright Lappset Group Ltd

= LAPPSET.

FLORA

175524

DATE: 30.7.2021

oL

il

Y =




se LAPPSET. 175524

FLORA

DATE: 30.7.2021

8B

A10520

707644

Copyright Lappset Group Ltd

]
.

705219

708923




Copyright Lappset Group Ltd

= LAPPSET.

FLORA

175524

DATE: 30.7.2021 8 c

708923

708761

I

Il

£

. B ——
Y D

710314




175524

& LAPPSET.

FLORA

8D

30.7.2021

708498

DATE:

S=\ \ B,

\
\

S

=7

)
w——
.il_-\;.

S

,,/,,, B

p3}] dnoug jesddoT jybruhdon



% LAPPSET.
FASTENER KIT

710014

DATE: 24.09.2020

1(1)

(1) 909866 |Pcs|(2) 901104 |Pes|

2] 2]

MBx60 | | M8x80 | |

(3 903093 |pcs|(4) 909256 |Pcs|

10| 2]

rd

@8x90 | | 916/8.4x1.6 | |

(5) 909633

&)

M8

res|(C) 709978 |pes

660x2975

Copyright Lappset Group Ltd

ol d
ks o
2400 V“‘f
2,
K
K
g M8x60 or /
M8x80 (7omm boom)
024 /8.4
J8x90
(9@3@93)
216 /8.4 =




% LAPPSET.

709402

Copyright Lappset Group Ltd

FLORA DATE:  6.11.2019 1(2)
(1) 903176 |pes|(2) 909850 [pcs|
sy 1
>
MBx25 | |
(3) 980128 |pcs|(4) 909256 |pcs|
DET 1-2 K8 2]
g7x40 | | o16/8.4 | |
(5) 909633 |Pes|(6) 980123 |Pes
1 1
@
70 @
¢ @@ - Me | | e7e0 | |
sl P
P P
P P
> ¢ - .
i o Z 2 & pes
Z '$* oo 8 N H
i [ 1 [ 111 PI_M_Q i [ 1 [ 111
P P
T‘I 800 T‘TT 800 L - -




% LAPPSET. 709402

FLORA DATE: 6.11.2019 2(2)
WALL OPTIONS WALL COLOR OPTIONS
7093571+ 709372+ ~701 BLUE

~702  YELLOW
m ~703  LIME
D ~704  DARK GREY
~705  GREY
~706  RED

—707 GREEN
—708 FUCHSIA

32,

SN NN
[« R\ SIS G
W N

\

10x351x423 10x351x423

e M8x25 DET 2

(909850)

Copyright 1998 Lappset Group Ltd

903517/6
716 /8.4
(909256)
@
@
\ M8 0/ xo0
(909633) (980123)
o 6
/x40 *Note'
(980128) '
Wall 709351 compatible
only with
ﬂZ¥@ table /709406
Wall 709372 compatible
||/ only with

table 709374




% LAPPSET.

FLORA

709476

Copyright Lappset Group Ltd

DATE: 6.11.2019 1 (2)
(1) 980128 |PSs|(2) 903093 |Pes
4] | 6|
o7x40 | | @8x90 | |
PCS PCS
PCS PCS
PCS PCS
PCS PCS
220
PCS PCS
PCS PCS
I I L T1T I]II]T
o — —
N
N
(O 709350 [pes|(C) 709400 |Pos|
1] al
800 T - _
[ IT 20x154x200 20x154x200




%8 LAPPSET. 709476

FLORA DATE: 6.11.2019 2(2)
TABLE OPTIONS

709575 7093574* 709406*

S
@ §-”

45x224%x702 45x224%x702 45x224x702

DET 1 DET 2

/x40

(980128)

(903093)

Copyright 1998 Lappset Group Ltd

*Note:

only with

only with

Table 709406 compatible
wall 709351
Table 709374 compatible

wall 709572




% LAPPSET.

709869

Copyright Lappset Group Ltd

FLORA DATE:  24.09.2021 1(1)
(1) 900240 |pes|(2) 905083 |pes|
4] 18]
| ez |
(3) 905112 |pcs|(4) 906503 |Pcs|
8] 4
@22 | | wMsxi20 | |
(5) 910186 |res|(6) 910697 |Pcs|
/ 2] 1]
100x119 | | 100x117x188| |
(7) 980128 |pes((8) 980150 |Pcs|
4 = 4
905083 980150
@7x40 | | Mg | |
906503 (9) 980151 |res|(9) 912267 |pes|
M8x120 6] i
905112 o 2
022 Ne 2
016/8.4 016/8.4 | | 3x54x86 | |
(1) 980135 |Pcs
2
DET 2 DET 3 j
J5%20 @5x50 | |
28x90
903093 912267/
M8x120
906503
222 |
) 910186
/08577 |
@16,/8.4 /
980151




t Ltd

ight

% LAPPSET.
FLORA

710314

DATE: 26.7.2021

1(2)

/)

2

@
v

370

( i'.
2
A
S
>
{ )
S W ek
3 B B
N N k&
( [

Q

Vs -A'><_‘ q
AT B>
7o W <=

260

@24/8.4

(1) 980128 |pesi(2) 980123 |pcs|
20
DET 3 F E B
@ @7x40 o7x60 | |
DET 2
\&“\\\‘ DET 1 l
“a\
. 1
o] ]
e 708767
é . 1870x1505 1505x1000 | |
‘ ) (O 909231 |pes() 909233 [rcs|
3 12
v VM
?8x130 @8x100 | |
(O 905051 [rc °

250 250 250
790 250, 260

1

= ~s—;j”

S —
A

B

\N|

Ay oy L s of
Y, N W, W
Y|

QQQL




% LA

PPSET.

FLORA

710314

DATE:  26.7.2021 2(2)

DET 1

(980128)

7x60
(980123)

=

DET 2

(900240)

—

+2670

+1470

+0

260

250

50

250

+290

Copyright 1998 lLappset Group Ltd

2270




Copyright Lappset Group Ltd

#® LAPPSET.

FASTENER KIT

710318

DATE:

28.7.2021

1(2)

(1) 980123 |pes|(2) 980128 |Pcs|
|4 | 12
DET 1 F
@7x60 | | @7x40 | |
PCS PCS
P14092 ] ]
e - ]
U \U PCS PCS
T 708923
DET 2
1 (O P14092 |pes|(C) 708923 |Pcs|
U ROPE LADDER +1470
+870 | | +1470 | |
ROPE LADDER +870
Never mind extra in rope lenght.
110
110
+1470
110 <
110
= | A L +1000
+870 T
A L +580
e —
+400 A AL ¥ T
 —
[==]
+0 +0

s TN




#® LAPPSET. 710318

FASTENER KIT DATE: 28.7.2021 2(2)

DET 1 DET 2

|

| b
I 7
Q7x40
(980128)
d7x60

(980123)

\ 909519

Copyright Lappset Group Ltd




Copyright Lappset Group Ltd

% LAPPSET.

909521

FINNO DATE:  15.6.2003 1(1)
(1) 909511 [pes|(2) 909519 [pcs|
1
(3) 909637 |pes|(4) 909638 [Pcs|
4 8 |
1@)
= &
Mo | | 201105 | |
(5) 909639 |pes| PS|
4 -
DET 1 i - -
M10x25
) P
) P
s s
DET 1 — -
909511 ] -
10x25

@20

909519

PCS

PCS




Copyright Lappset Group Ltd

% LAPPSET.

FINNO

705230

DATE: 6.6.2014

720

800

(1) 705210 [pes|(2) 903093 [pes|
jm 1] o]
| esxe0 | ]
PCS PCS
PCS PCS
PCS PCS
PCS PCS
PCS PCS
DET 1
©8x90
R




Copyright Lappset Group Ltd

& LAPPSET.

FINNO

A10520

DATE: 9.9.2020




& LAPPSET.

A10520

Copyright Lappset Group Ltd

FINNO 3
DATE: 9.9.2020 a
707918—-707|pcs 900240 |pcs 903533 |pcS 905086 |pcs 905112  |pcs 905801 PCS
14 6 4 624 8
‘
@8x70 SRL12 ?44/13.5 BLACK @22 GREY
905811 PCS 905821 PCS 905829 |pcs 905831 PCS 905850 |pcs 905859 |pcs
8 20 4 560 1 2
\ \ \ ../ @ \
GREY GREY TRANSPARENT BLACK 6x80x850
905860 |pcs 909205 |pcs 909248 |pcs 909274 |pcs 980150 |pcs 980151 PCS
' 280 4| 8
5 S
=) >
] \-/
8x60 M12 8x30 M8 @16 /8.4
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS




& LAPPSET.  A10520

FINNO




s LAPPSET. A10520
FINNO DATE:  9.9.2020 4b
905850 905850 SURFACE MOUNT | 905850
(@)
W .
;J;;J%pgw%
905850 905850 905850

905860

905859
\. 016/8.4

M8

Copyright Lappset Group Ltd




& LAPPSET.

A10520

DATE: 9.9.2020 5 a
05811 905801 05811 905829 905829
905811 90580 905811 905821 905821
905801 905811 905801 905821 905821
905801 905811 905801 905829 905829
905821 905821 905801 905821 05811
90582%%%51%%<j:§\\90582%%%51%%<TQ§\\905801 905821 905811
90582§§§§E\YZ:;4//905821 905811 905821 905801
905821 905821 905811 905821 905801

12

905821

905821

Copyright Lappset Group Ltd

905801

905821 905801
905821 905811

905811




Copyright Lappset Group Ltd

& LAPPSET.  A10520

FINNO
DATE:  9.9.2020

6a

Esimerkki putken kokoamisesta

Example of installation REIKIEN NUMEROT

NUMBERS FOR HOLES

LIUKUPINTAAN EI SAA TULLA
LAPINAKYVIA MODUULEJA!!

NO TRANSPARENT PIECES ON
SLIDING SURFACE!!

905850

Position of the box: 54 degrees




& LAPPSET.

FINNO

A10520

DATE:

9.9.2020

Valmiiksi kasattujen osien osakokoonpanot ja vara-osa listat.

Ready installed component subassemblies and spare part list.

7a

05811
905811
905801
905801
707918—-707 909205 x 8 980150 x 8
D e
905831 x 32 909208 x 16 909119 x 16
5%%7 gg% Qyﬁﬁﬂm

909252 x 13
05811 E
905811
700413 x 1
905801
905801 D
909205 x 16 |980150 x 16 |905831 x 32
909206 x 8
D ® §§2
905850 909208 x 8  |980151 x 8
@ .

Copyright Lappset Group Ltd

Position of the box: 54 degrees




% LAPPSET. TUBE INSTALLATION GENERAL

PLATE AND RINGS

FINNO DATE: 1.6.2016
DET 1 DET 2
905112
D
- . M8
- (980150)
TUBE 905831
706512
Boom
Out Side |
; 905112
=)
DET 3 DET 4 M8x60 905112
905112 (909205)

9058351

M3
(980150)

9051172

DET 5 DET 6

AP M8
Hi— (909208)

MBx60

(909866)

 88x70
900240

Drill through the

holes you need

- 900851 Plug the hole

what you don’t need

Copyright 1998 lLappset Group Ltd




Copyright Lappset Group Ltd

% LAPPSET.

705258

FLORA DATE: 9.4.2013 1(1)
(1) 705256 |pes|(2) 705257 [Pcs|
/ ) -
32x45x702 | | 32x750x750 | |
(3) 900240 |pes|(4) 980101 |pcs|
8
28x70 | | w@45x70 | |
PCs| PCS|
= =
% 38 ] ]
(@]
2
3 a
800
DET 1 DET 2 DET 3
705256 4 5% /0

@3x /0

7

(i
N\

\

=4

NOTE:

Same plane.
HUOM:
Samassa
tasossa.




Copyright Lappset Group Ltd

% LAPPSET.

705270

FINNO DATE: 6.6.2014 1(2)
I I (1) 705260 [pcs|(2) 903093 [Pes|
DET 3 < ] o]
| esxe0 | ]
/ PCS PCS
é DET 1 ] ]
\ PCS PCS
DET 2 N N
q i P
PCS PCS
+2190 - -
PCS PCS
+1470
PCS PCS
PCS PCS
+0 B B




Copyright 1998 Lappset Group Ltd

% LAPPSET.

705270

FINNO DATE: 6.6.2014 2(2)
DET 1 DET 2 DET 3
x @8x90
\%
)
?8x90
(903093)
705260 (903093)
705260




Copyright Lappset Group Ltd

% LAPPSET.
FLORA

705308

DATE:

16.5.2016

1(5)

670

1470

1370

(1) 705307 |pes|(2) 901879 |pcs|
/ 1 2]
(3) 707133 |pes|(a) 901868 |pcs|
] 2]

‘ 10x80x745 ?30x598
(5) 909210 |pes|(6) 905051 |pes
4 | 4

e
M8x40 924/8.4 | |
(@) 980128 |pcs] pos|
T H B
o7x40 | | B

2590




Copyright 1998 Lappset Group Ltd

% LAPPSET.

705308

FLORA DATE: 16.5.2016 2(5)
DET 2
90187/9 O7x40
/ /@T@g)
Insert sheet metal IN to the
plastic cover.
“3\ ﬁl
2000 §
.3‘ =
4610




3% LAPPSET
FLORA

705308

16.5.2016 3(5)

DET 3

M8x40
(909210)

024 /8.4
(905051)

9018638

DET 4 901868

/07133

(905051)
MEx40

(909210)

Copyright 1998 Lappset Group Ltd




4(5)

16.5.2016

705308

DATE:

% LAPPSET
FLORA

P31 dnoug jesddo] @661 1yblikdod




8 LAPPSET 705308
FLORA DATE: 16.5.2016 5(5)

Copyright 1998 Lappset Group Ltd

.
i

NSRS QQQQQQQ

2 Q a MEROR U
/00x200x100
CONCRETE
. /700 _




Copyright Lappset Group Ltd

% LAPPSET.
FLORA

705310

DATE:

20.5.2015

1(2)

L]

755

25

(1) 705245 |pes|(2) 980104 |pes
A1 iE
| /

.e’
\ - -
53x119x754 25x90

(3) 901868 |pcs|(4) 909867 |pes

/ 1] 2]

034x598 | | Mex70 | |

(5) 999561 |[pcs| Pes
. 1

O

L

I
GLUE

10 g




Copyright 1998 Lappset Group Ltd

% LAPPSET.
FLORA

705310

DATE: 20.5.2015

2(2)

DET 1 DET 2

NOTE:

Chamfers of the pole and

narrower must be mounted

in the same direction.

HUOM- /05221

Tolpan ja kaventajan viisteet

tdytyy asentaa saman suuntaan.

@5x90
N 901868
/05245 ]

DET 3 DET 4

90986/

12




Copyright Lappset Group Ltd

% LAPPSET. 705375

FLORA DATE: 30.1.2018 1(2)

(1) 701092 |pes|(2) 705331 |pcs

15x120x700 45x645x1670
(3) 705363 |pcs|(4) 705373 |pcs

N

L 2120 95x1005x1365
(5) 705374 |pcs|(6) 900240 |pcs

DET 1, 3, 4 \

o
(93
[%]

95x1005x1369 28x70
(7) 909256 |pes|(8) 909855 |pes
DET 6 4 4]
)
S| |

216/8.4x1.6 | | M8x35 | |

(9) 980107 |pes|i0) 980123 [pcs|

13 4

S — —

P
@6x60 | | @7x60 | |
(1) 980128 |pcs| pes
5

. ° ] -

‘ o7x40 | | B

33 o) P
— O

e - -

PCS PCS
o

~ I I
¥




Copyright 1998 Lappset Group Ltd

% LAPPSET.

705375

FLORA DATE:  30.1.2018 2(2)
DET 1 DET 2
"‘v
XN o
/
WBEx /0
216/8,4 (900240)
(909256)
MEx 3D
(909855)
DET 3
Woxo0

(980107)

/x40

(980128)

DET 5 /x40

(980128)

(980123)

DET ©




Copyright Lappset Group Ltd

% LAPPSET.

705506

FLORA DATE: 9.4.2013 1(1)
(1) 705486 |res|(2) 905051 [ps|
2 6
@ 2| 6|
! @
45x120x660 | | @24/8.4 | |
(3) 909232 |pes|(4) 905066 [pcs|
6 | 6|
8x120 | | s3oH | |

660

120

909252
905051

905066
o




PCS
4
PCS

1(1)

8x120

=
224/8.4

(905051)
905066

705487
8x120

(909232)
724 /8.4

45x120x590

(1) 705487 |pcs|(2) 905051
2]

(3) 905066 |pcs|(4) 909232
il
PCS
CS

S30H

22.4.2013
G
'Ou

705507

DATE:

DET 1

®
DET 1

480

e T
. 7/A m

% LAPPSET
FLORA

|
p17 dnous 3jesddo jybhdon



Copyright Lappset Group Ltd

% LAPPSET.

705511

FLORA DATE:  27.1.2021 1(1)
</\_> (2) 900240 Pes|
Al 4]
@8x70 | |
o =
Pes PCS|
Pes Pes|
Pes PCs|
Pes Pes|
N
DET 1 DET 2 PCS PCS

AN

8x/0

/05511

200

PCS

PCS




% LAPPSET. 705819

FLORA DATE: 17.5.2013 1(2)

(1) 705643 |res|(2) 705818 |pes

[~]
-]

=243 1=1527
(3) 905103 |pes|(a) 905104 [Pcs|
4 4]
PT-28/32-H | M0 | |

(5) 909521 |pes|(6) 980161 |pes

1] 4]

Copyright Lappset Group Ltd

I=700 M10
(7) 980165 |pes|(8) 903093 [Pcs|
4 2
@ @M

026/13x3 | | o8xe0 | |
PCS PCS
PCS PCS

+1430

Max Falling Height

+1060
PCS PCS
| i PCS PCS
+0 1 L -

870
|




Copyright 1998 Lappset Group Ltd

% LAPPSET.
FLORA

DATE:

705819

17.5.2013

2(2)

DET 1 @
-
S

Sand 0.2—=2 mm/
%&vae 2—8 mm

DET 2

O

g M10
G0
905104
DET 4
Ex90




Copyright Lappset Group Ltd

% LAPPSET.
FLORA

706234

DATE: 13.10.2015 1(5)
(1) 706176 |pes|(2) 901879 |pcs|
éﬁ ] ]
870 | | ]
(3) 707133 |pes|(a) 901868 |pcs|
i 2]
10x80x745 | | @30x598 | |
(5) 909210 _s@ 905051  |Pes|
4] 4]
o
M8x40 Q24/8.4-
(7) 980128 |pcs| pes
E 9] H
g7x40 | | ]
ol ©
NN
LT (1]
‘ 670 ‘ 1650




Copyright 1998 Lappset Group Ltd

% LAPPSET.
FLORA

706234

DATE:

13.10.2015

2(5)

DET 2

901879

J7x40

/ /" (980128)

B %
P ﬂ
N
T 2
2 o2

Insert sheet metal IN to the
plastic cover.
_— EN Impact Area 10.6 m2
- Falling Space 10.6 m2
Max Falling Height 1000 mm.
3
2000 @
n
N
3
o
o
o
o
o
n
3740




% LAPPSET

706234

FLORA DATE:  13.10.2015 3(5)
DET 3 DET 4 901868

M8x40 i

(909210)

@24 /8.4

(905051) -

707133
@ @24/8.4
901868 (905051)

~._ M8x40

(909210)

Copyright 1998 Lappset Group Ltd




706234

DATE:

% LAPPSET
FLORA

4(5)

13.10.2015

P31 dnotg jesddo] geel 1yblikdo)



% LAPPSET

FLORA

706234

DATE: 13.10.2015

5(5)

Copyright 1998 Lappset Group Ltd

7@7\17}
IR 0 9%

777777 Q N 9QeQ ‘

Q o) 9

G,
g
IE

/00x200x100
CONCRETE

/00




% LAPPSET.
DEEP FOUNDATION

FOOT

DATE: 13.3.2014

4A

Copyright Lappset Group Ltd

100

c 00




Copyright Lappset Group Ltd

% LAPPSET. FOOT

BETON FOUNDATION o

27.10.2015

(2) 905104 |pcs

)

M10




% LAPPSET.

FOOT

DEEP FOUNDATION DATE:  15.5.2018 1(1)
@ (D 909511 |pes|(2) 909519 |Pes|
1
909511 /911155 H
MTOx25 o ) 90x90x650 | | 50x380x380 | |
(909639) (3) 909637 [res|(4) 909638 [pcs|
4 8
@20/10.5 )
(909638) ~ \m# =
£ ! - -
N \\;%%} M10 220/10.5
S E () 909639 |rcs|(5) 905104 [pcs|
S 4] 4]
Miox25 | | M0 | |
/
OPTION FOOT
9095719 MT0O
(D 911155 |ees pes
(909637) & ]
90x90x650

Copyright Lappset Group Ltd




% LAPPSET.

GAME WALL

M80 DATE:  4.11.2019 1(2)
(1) 903176 |pes|(2) 909850  [pes]
"]\ 4] 4]
DET 1,2
| wmexes ||
(3) 909256 |cs|(4) 909633 [Pcs|
8 4]
&y
016/8.4x1.6 | | -
(5) 980123 |pcs Pes|
4] |
*Note: o7x60 | | B
No gaps between:
3—25mm
89—230mm
COLOR OPTIONS
—701  BLUE
—702  YELLOW
—-703  LIME
—704  DARK GRAY
- —705  LIGHT GRAY
—-706  RED
~707  GREEN
1 —708  FUXIA
10 @] 2
9l - Ols
o ||IB 3

*Note

*Note

Copyright Lappset Group Ltd

800

800




% LAPPSET.
M80

GAME WALL

DATE:

4.11.2019

2(2)

GAME WALL OPTIONS

706766

706772

706308

707453

640x702

640x702

640x702

640x702

707209

705705

707433

707386

Copyright 1998 Lappset Group Ltd

\E

(909633)

640x702 640x702 640x702 640x702
709403 709358 709405
640x702 640x702 420x702
DET 1 YN DET 2
(909850)9[X5?76
@ |
316 /8.4 < 3 7%60
(909256) 1 (980123)
:
@ g




16.2.2021

LApp
Halite 178 ET Groy

10 PL
FINCARSVANIEN, td

Loy
gg;g«e% broup L1
PhOVANH

‘E}Sﬁ I'.J.:‘menm

123456
I Wi
F5675g

FSe7my F

e,
et a1

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit
- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 1 mukaisesti.

2) Tuotekylttitarra
- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 2 mukaisesti.
- Huom. Al3 kiinnité tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av foljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

- Rengor den pulverlackerade metallytan eller laminatytan sa att den blir fri frAn smuts och fukt. Fast etiketten enligt fig. 2.

- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker
- Clean the painted metal or plywood surface from dirt and moisture. Fasten the sticker as shown in the figure 2.
- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a 'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre seche (voir image 2).
- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliere ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben
- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-Entfernen Sie zunachst Schmutz und Feuchtigkeit vom lackierten Metall bzw. von der Holzoberflache und bringen Sie den

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.
- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.

LAPPSET GROUP LTD P.O. Box 8146 | FIN-96101 Rovaniemi | Tel: 0207 750 100 | lappset@lappset.com | www.lappset.com



40

PCS
PCS

1(1)

755x755

)
216/8.4
(O 707590

PCS@ 909256 |pcs

40

980123

@E

707588

DATE:

% LAPPSET.
FINNO

120

110

0ocl

DET 1
(980123)

p17 dnout9 jesddp jybrhdon



% LAPPSET.

707644

FINNO DATE: 24.3.2016 1(3)
(1) 900240 |pes|(2) 980123 |pcs|
16 56|
DET4 @iﬁ ]T
g8x70 | |  @7xe0 | |
(3) 980128 |pes|(2) 980154 |pes
DET 3 7 12l
]T
o7x40 | | w24p13 | |
DET2
(5) 909224 |pes|(6) 905090 |pcs|
DET5 12 16
=
12x100 | | 045 | |
905115
- ©) Pes(8) 905103 [pes|
== N 6 m 6]
30 | |PT-28/32-H| |

370

840

Copyright Lappset Group Ltd




% LAPPSET.

707644

FINNO DATE: 24.3.2016 2(3)
DET 1 DET 2
D7 x40
/(980128)
905103 |/
12x100
(909224)
724 /13
(980154) J| L
DET 3 DET 4

J12x100

024 /13
(980154)

(909224)\
905115 )
/f

o
N~

(900240)

Copyright 1998 Lappset Group Ltd

DET 5

/x40

1 /x60

(980128) "\ o
V N ':A




% LAPPSET. 707644

FINNO DATE: 24.3.2016 3(3)
NET OPTIONS
707525 707528 —301 BLUE
—302 RED
—-303 BEIGE
—-304 GRAY
—-305 BLACK
RAILING OPTIONS
707520 707521 —602 DARK BROWN

—603 LIGHT BROWN
—604 LIGHT GRAY

// —605  DARK GRAY —609  GREEN

—606 GRAY —610 YELLOW
—607 RED —611 LIME
—608 BLUE —612 FUXIA

PLATE OPTIONS

707522

N

—704 DARK GRAY

BOOM OPTIONS

707518 707319 —602 DARK BROWN

—603 LIGHT BROWN
// —604 LIGHT GRAY

Copyright 1998 Lappset Group Ltd




708457

% LAPPSET.
FLORA

1(2)

8.6.2020

DATE:

2o HHEE HHEE | [8]2] | 18] 2| | 18] | HEN
00 o< ~ © | N \p)
2 35 o|B HE 2|3 38 N
00 S|w = |O = | — x| O™ x| © 32}
5 2|5 25 \o 38 5|5 g5 (& °
M = Q
N S
© © © ©) S &)
8o | [8]e] | |8]=] | [218] | 18] 2] 18] | 18] |
o o
N < | 0 ToRKe)) ol|N ol|w Am
AN 26 X0 — oy 00| T
0 Xl 2™ 2o Lo @ N W0 @ N
o Rlo Yo gl F—— J|® o| O a
N~ < | ™ W &) [SEKe)] [SEES s »
n
© ¥ ® ) © ©) ®

$
Z

+280
+0

PY] dnoldd 38sddb| yybDIIAdo)



% LAPPSET.

708457

FLORA DATE:  8.6.2020 2(2)
DET 1 DET 2 DET 3 38x90
) ©20/10.5 905095
8x120 —Im 309638 | J
<sm\\ R =&
b 2l M10 W
Juolle ~ e 1 909637
Q g
0 ,.
@W@/Sﬂr ! © A W
(980151)
910317 M10
905083 905104
DET 4

/x40 .
@%6@%7\\\ g
& \|Pas

@/x60

g0z ~__{fT

Copyright 1998 Lappset Group Ltd




% LAPPSET.

FLORA

708498

DATE: 13.9.2021

1(2)

Copyright Lappset Group Ltd

310

DET 1

L .420

DET

420

420

DET 2

NET HOLE MUST BE
OVER 230mm

420

+770
+480

+210
+0

@

+770

*note /

(1) 708497 |rcs|(2) 708500

68x120x2520 700x2400

PCS

2

70x145x600

(3) 705223 |pes|(4) 903093

| |

@8x90

PCS
16

(®) 980128 |Pes|(e)

DET 3 ﬁ

@7x40

980123

[

@7x60

PCS
50

216/8.4

(@) 980151 |Pcs((8) 909232

@8x120

£

905103

N

PT—28/32—H

OPTION INSTALLATION




% LAPPSET.

708498

FLORA DATE: 13.9.2021 2(2)
DET 1 DET 2 DET 3
B8x90
PT—28/32—H 903093
905103
ATT | @7x60
Pre drilling 980123
@omm
—
O

980151

@8x120
909232

DET 4

97x40 .
(980128) "\ N

& \L|®
D7x60

(980123) ™ T

*note

Rope elements are
not symmetrical
horisontally. When
installing make sure
there is larger gap
between railing and
net.

Copyright 1998 Lappset Group Ltd

OPTION INSTALLATION +500mm

910

400

130 | [

NET HOLE MUST BE
OVER 230mm

440

910

I I I I T

180 [




Flora Triangle Nets

M LAPPSET.

FLORA

22.10.2020

DATE:

x \
(=) “_MC @ @/ m
e N L
5
(@] [e))
MO
> | MY
velle o
STk K 4 wo.
. i
T O ,m[\\
T
L)
o
T
L
(]

P37 dreus iasddo iybddon



% LAPPSET.

FLORA

708761

DATE: 8.6.2020 1(2)
“|T DET 1 (1) 708748 |pcs|(2) 705222 |pcs|
I B
DET 7 DET 8 )

7

45x113x2480

Copyright Lappset Group Ltd

(3 708760 |rcs|(a) 708759 |Pcs|
12 -
\m /
68x145x724 | | 8K L 1999 | |
(5) 980123 |pes|(6) 980102 |Pes|
120 18]
F ;
o7x60 | |  o5x40 | |
(7) 900366 |Pcs|(8) 980128 |pes|
12 19
MI2x40 | | @7x40 | |
(9) 907239 |Pcs|(0) 900240 |pes]
12 120
420 420 420 420 @ | -
@8x70
— (11) 910350 |Pcs|i2) 905104  |pes
= T T T T E
o — I
o
M
Y
o
o
M (I (—
i { M10
=== G sosos3 1@ siosez 13
S 24 2]
? @M @
@8x90 | | ]
(5 980151 |Pes|16) 909232 [PCs|i7) 905112 [PCs|(1g) 905083 |Pes|
4] 4] 4] 4
@
216/8.4 N 28x120 N 022 N 232 ]




% LAPPSET.

708761

FLORA DATE:  8.6.2020 2(2)
DET 1 DET 2 DET 3
8x120 —[ ?8x90
(909232) \ — ® ‘ [ (903093)
905112 il
~ >
016 /8.4 f—0
(380757) 6 |
905084
DET 4 DET 5 DET 6
LY
(lf((@i o
‘\"‘v‘!‘\
5
M12x40 910462 ?8x70
980102 900366 900240
DET 7/ DET 8
?8x90
N
B7x40 . \ 903093]
(980728) ™\ 8
>
@7x60 "o
(980123) ™

E

Copyright 1998 Lappset Group Ltd




% LAPPSET.

708945

Copyright Lappset Group Ltd

FLORA DATE: 14.5.2019 1(2)
(1) 708257 |pes|(2) 708943 |Pcs|
? DET 1 B K
9 </
e | |
] @16x350 8x694x694
pe, (3 901899 |pes|(2) 903093 |Pes|
ill H 6
@M
Mex45 | | eexe0 | |
/% (5) 905083 |pesi(6) 905112 [Pes|
~ 6] 6
:
g2 | | @22 ||
L \(2 (7) 908295 |pes|(8) 909256 |Pcs|
L u H 2
82x40x17x3 | | @16/8.4 | |
(9) 909568 |cs|i0) 909633 |Pcs|
5| 9
e &
' 3 < - L
M8x55 M8
(1) 909850 |pes|i2) 910759 |pcs|
6] N
P
Mex25 | | B
(13 980152 |pcs|i4) 980160 [Pcs|
12| 5|
®
@24/8.4 | | V-
P2

N
< =
A




% LAPPSET. 708945

FLORA DATE: 14.5.2019 2(2)
DET 1
M3
(909633)
216/8.4 024 /8.4

@@/////<909256> (980152)

(980152)

Copyright 1998 Lappset Group Ltd

M8x25 M8x45
(909850) (901899)
DET 2 DET 3
M8x55 329
(909568) (905112)
?8x90

(905083)

216 /8.4
(909256)

M8
(980160)




Copyright Lappset Group Ltd

% LAPPSET.
FINNO-CUBIC

709862

DATE: 3.9.2021

DET 1

DET 2

©04.5x70
980101

(1) 900240
@8x70 | | @4.5x70 | |
PCS PCS
PCS PCS
(O 709859 [pes|(C) 709861 [Pos
11 |1
32x350x748 | | 32x350x748 | |
(O 709867 |rcs|() 709868 |Pcs)
i L
32x350x748 | | 32x350x748 | |
(O 709858 |Pcs [PCs|
| 2] ]
32x45x290 ] ]
PCS PCS




	709402 1
	709402 2
	709476 1
	709476 2



